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7 |1 P\H =EfE NP YE 9.5 9.5
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10 |1 P = PV ERN 3.0 6.0
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11 |1 [ A X [5  [if] HAR 3.0 3.0
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2 1 |[WHE B | INOUE. T. A 7.1 17. 1 44.2
4 1 | bR = VN TN TF 2 2TC 14.3 12.8 42. 1
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7 1 | EH wE BT S 21.4 21.4
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10 |1 [l i+ t[ZILTS 14.3 14.3
12 |1 |%8E 0 T|7)— 12.8 12.8
12 |1 /NIl FE A |FETH 1 B E AR 12.8 12.8
13 |1 |folH Bk Uo7 2TC 8.6 8.6
13 |1 |59 BT AT 7 NT T3 210 8.6 8.6
13 |1 [ < A7 1752 aTC 8.6 8.6
13 [ 1 [(hE & AT NTF2aTC 8.6 3.6
13 [1 |FEHd AT A7V —=vF v 8.6 8.6
14 [1 5@ HE ARILTC 8.6 3.6
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28 |1 [k iz < |HTIAT ¢ 2.3 2.3
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28 |1 ¥ ERE YR UAT 4 2.3
31 |1 = EE aHIITC 2.3 2.3
31 [ 1 [fAfe #idk H|HILITC 2.3 2.3
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